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Sec 8-4: Properties of Logarithms

For any positive numbers, M, N,and b, b # 1,

From Page 454:

|Ogh MN = |0gb M + |0gb N

Iog,,% = log, M — log;, N

Properties of Logarithms

log, M* = x log;, M
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Product Property

Quotient Property

Power Property

Use the Properties of Logarithms to write each
as a single logarithm:
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Write as a single logarithm.
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Write as a single logarithm. Give answer with whole number
exponents only.
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Use the properties of logarithms to evaluate each expression.

Logo14 + Logo12 - Logo21
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Write as a single logarithm. Give answer with whole number
exponents only.
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Use the properties of logarithms to evaluate each expression.
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Write each as a single logarithm then evaluate.

log,36 —(2log,4 —log,3
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Solve this equation without using a graph, a table, or the Change of
Base Formula. Round to the nearest hundredth.

5x =60 Hints:

e \What you do to one side of
Tﬂ;ié:h N l03 OQ both an equation you must do to
=%

the other side.

s e One of the Properties of
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l = l ~5 Logarithms will help
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You can now finish Hwk #18.
s Due Tomorrow.
Page 457

Problems 14-18, 34, 35, 37, 38

Solve. 2loga(x+1)=3
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